S3AE =81 &d

!'_ [Time Management)

I5]
i
Im
0)

08



....................................

s A A T




=\,

4.

Ay 2| 7|2 T4

M EE| Za A

A2 =79t 7S

XIEQL O|HEXIE
: =

Kl
Hu
4=
m
ox

02




‘Jﬂ HI=0] 52400 Xot0]

MF= AIAOPIX &0l 0IZ LY
“The battle was won before
it was fought.”



=
a

3&dl9 JI=Z

X
o
=

i

Ol
=

—=

KO
oll 5

ST J
KIT 10
oy KO
w| o] KM
RIR
MH ~d 4
Hl<io

WS
H| FloF

8o

R0

W]
="

H|



m
——
N
I
~
of | o
|5
mwm
RO | &
ol | &

L

= IR0
= oI RO
100 ol & foll
200 7
#_ﬂlﬂr_ = ol

Mo & o
joir W|r Ok o0
T LF = %0

oFl 0 ofl
K oll K

8o

R0

W]
="

H|



ol Z=MA

A

2N

2| =

!

o

._nw_ <
%0 T

ol X
= ol
ol N
31 U
kI &1

o K

m.
< &

T X
RO <H
._.__o LHo
oill joqfl

80

R0

|
=l

H|



EEI‘IIE Ol X

;. 7._;575}5 (Gantt chart)
3. SI N HEAFE (Milestone chart)
O
. HE® 3 (Network diagram)

I=
Hu
4=
[m
oy
08



ZEXIE (Gantt chart)
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ZEXIE (Gantt chart)
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ZIEXIE (Gantt chart)
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HIEX 3 (Network diagram)
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Activity on Arrow (Arc) method.
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Activity on Node (Activity in Box) method.
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FRASE, BHHIEZ (Critical Path)

HEQT Ao M 7HE AlZHO] 2 HZ, &
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[Critical Path]

(a)
2|7
LA |ZE =2zt
(b) = ofAlZH
s 7zt AlE} == A=} ==
A 3 0 3 6 3
B 2 0 2 0 2 0
C 3 3 6 6 9 3
D 5 2 7 2 7 0
40| 0 3 3 7 7 0
E 6 6 12 9 15 3
F 8 T 15 7 15 0
ZRHE AY
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PERT
[Program Evaluation & Review Technique)
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t, = =28 AlZt (optimistic time): 2 & &20| =X &7
A O 2 =3O A2E[&= AlZ

t_ = EAX A|ZF (most likely time): At2t0] EEQ [ =
A0 AQE|= A|ZL

t, = H|ZHH A|ZF (pessimistic time): 44&H0| OF 2 jf X+ ¢
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COIHI>PERT & 0182 HEYT B4

2 AP A ZPFAX (D) | 7| HAELA 7 | B4
o tm tp | (t) (02,)

A AL 1 3 4 2.83 0.25

B A 2 4 6 4 0.444

C B 2 3 5 3.17 0.25

D A= 2 3 6 3.33 0.444

E D 4 6 8 6 0.444

F E 3 4 6 4.17 0.25
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00793
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-1.41

(%)
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1,138

7|cHARA|ZH )

10

135

F-Ld
A-B-C

D-E-F

v 0.944

12 —10

X —u

7 =

ABC A=

DEF 7 2:

) = P(2<2.06) = 0,9803

12 =10
v/ 0.944

12 —13.5

v 1.138

0

P(ABC_“ <
d

P(ABC<12)

) =P(Z<—1.41) =0.0793

<

0

_ (DEF—p

P(DEF<12)
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P(T < 12) = P(ABC < 12) X P(DEF < 12) =0,9803 X 0.0793 = 0.0777
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s ; + 00
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g B
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0|23t X S= (Crashing)
CPM (Critical Path Method)
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End of presentation!
Thank you for listening.
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